
 0
,6

0m
 

 3
,4

3m
 

 0
.5

7 
m

  

 2.5 m 

0.0

>CPSC
>EN 1176

0,57m

Description MA Item Number Qty

1000  x 1394 mm 8009764 1

1074 x 1037 mm 8009761 1

300 x 300 x 60 mm 8002241 4

1535 mm 8009765 2

1810 mm 8009766 1

1590 mm 8009763 2

2330 mm 8009762 1 HSG ToB 2017-08-08 2

MA42078510
 1 ( 6)

ANEBY, SWEDEN
+46(0)380-
47300
www.hags.com

Tornado, S/BM, Wooden Post 
HAGS



24Nm

1
3

3

4

2

47Nm

9 10

47Nm

9

8

47Nm

9

8

5

7
6

2x 2x

2x

2x

NR. Description MA Item Number Qty
1 1000  x 1394 mm 8009764 1
2 300 x 300 x 60 mm 8002241 4
3 1535 mm 8009765 2
4 1810 mm 8009766 1
5 U-Loop Ø60 260565 2
6 Washer, Bolt cap 11x24x2-ISO4759-3-C 8008850 7
7 Nut, ISO4032-M8-8 8008770 4
8 Washer ISO7093-10.5x30x2.5-A2 8008859 4
9 Screw, ISO4017-M10x20-8.8 8008367 6
10 Nut, Fujilok-M10-8-RingA2 8008796 5 HSG ToB 2017-08-08 2

MA42078510
 2 ( 6)

ANEBY, SWEDEN
+46(0)380-
47300
www.hags.com

Tornado, S/BM, Wooden Post 
HAGS



 1
,9

5 

F

1

4

3
2

G

47Nm
6

5

4

E

8

7

9

10

NR. Description MA Item Number Qty
1 1590 mm 8009763 2
2  Ø21.4 x Ø11 x 4,7 mm 8035288 10
3 Screw, wood, TKFT-8x60-8.8 8008646 10
4 110 x 101 mm 8016362 1
5 Nut, Fujilok-M10-8-RingA2 8008796 6
6 Screw, ISO7380-1-M10x20-10.9 8008451 4
7 84 x 60 mm 8005795 1
8 Screw, ISO8677-M6x30-8.8 8039271 2
9 Washer, Bolt cap 6.4x14x1.6-ISO4759-3-C 8008848 2
10 Nut, DIN986-M6-8 8008752 2 HSG ToB 2017-08-08 2

MA42078510
 3 ( 6)

ANEBY, SWEDEN
+46(0)380-
47300
www.hags.com

Tornado, S/BM, Wooden Post 
HAGS



47Nm

47Nm

81Nm

1

7
6

5

9

8

4

6

5

2

3

1

NR. Description MA Item Number Qty
1 1074 x 1037 mm 8009761 1
2 Clamp 52 mm 261841 1
3 Ø52x116 M12 8005632 1
4 Screw, ISO4014-M10x80-8.8 8008388 1
5 Washer, Bolt cap 11x24x2-ISO4759-3-C 8008850 9
6 Nut, Fujilok-M10-8-RingA2 8008796 10
7 Screw, ISO4014-M10x100-8.8 8008393 2
8 Washer ISO7089-13x24x2.5 8035699 2

9 Nut, ISO7042-M12-8 8042811 2 HSG ToB 2017-08-08 2

MA42078510
 4 ( 6)

ANEBY, SWEDEN
+46(0)380-
47300
www.hags.comHAGS

Tornado, S/BM, Wooden Post 



1

55Nm

3 3

2

9

I

6

787

5

4

1

NR. Description MA Item Number Qty

1 2330 mm 8009762 1

2 M8 x 58 mm 8005588 1

3 Screw, ISO4762-M8x16-8.8 8008470 2

4 Washer, Bolt cap 11x24x2-ISO4759-3-C 8008850 9

5 Nut, Fujilok-M10-8-RingA2 8008796 10

6 Screw, ISO4014-M10x90-8.8 8008391 1

7 Ø20 x 20 mm 8005726 2

8 Ø15x2x35 mm 8005462 1

9 Ø80 x 40 mm 8005993 1 HSG ToB 2017-08-08 2

MA42078510
 5 ( 6)

ANEBY, SWEDEN
+46(0)380-
47300
www.hags.com

Tornado, S/BM, Wooden Post 
HAGS



HSG ToB 2017-08-08 2

MA42078510
 6 ( 6)

ANEBY, SWEDEN
+46(0)380-
47300
www.hags.com

Tornado, S/BM, Wooden Post 
HAGS


	Sheet1
	Drawing View2
	Drawing View3

	Sheet2
	Drawing View1
	Detail View A (1 : 3)
	Detail View B (1 : 4)
	Detail View C (1 : 3)
	Detail View D (1 : 4)

	Sheet3
	Drawing View8
	Detail View F (1 : 5)
	Drawing View11
	Detail View G (1 : 5)
	Drawing View13
	Detail View E (1 : 5)

	Sheet4
	Drawing View15
	Drawing View16

	Sheet5
	Drawing View17
	Drawing View18
	Detail View H (1 : 5)
	Drawing View20
	Detail View I (1 : 4)

	Sheet6

